J% o] F AHZHEo] A - BCDECOF - GHIJ & o, 2] 92

| us
A
F
C D H I

@ EAZ ACe] H-&ste EAE= FH o[t
@ HAE CDo| H-§-st= A €= HI ]t
@ W ACDO| ti-gst= | W FHI o]t

@ A Doll tf-gch= -2 A 1 ol

&)™ ABE || H-g-ol= H2 H FGH ©]|t}.

P

rlo o




2. AABCS ADEF = 929 3A7F Q3L 11 G347 4 : 50]12
Zol7t 8w, DE o] Zo|&?

D

@10 @ 1 ® 12 @ 13 ® 14

A

Bel




oS A F AZHE V-ABC &V -A'B'C’ &= F2 =3o|t}.
AB =4cm, VC = 12cm , A’B’ = 6cm ,/ACB = 52° & o, V/C’ 2]
Zolet L A’C'B 9] 27|15 HIE2A FolE A2?

YV
v
\
\
12cm
1
1
c Ak--}-)c
4cm v
B 6cmd
@ 16cm, 50° @ 16cm, 52° ® 17cm, 52°
@ 18cm, 50° @18cm, 52°

B

AB:A'B'=VC:V'C
4:6=12:V'C’

4V'C’ =72, V'C’ = 18(cm)
(A’C'B’ = /ACB = 52°




Oha 18] 7 dE2 Mz g2 Edott. 22 ¢Eo ¢d

ol dem & wf, 2 L& W o] d=Fo] Lo

19

10cm
8cm
® 8mem @ 9rem @l(hcm
@ 1lrcm ® 127cm
T QEol GhoH|= g 10 =4 : 50| BR & A& Uiz £ 9]
ZolE r(em)oletstH 4 :5=4:r, 4r =20, r = 57} Hr}.
whabx] F PE e B9 Aoj= 2 x5 X = 107(cm)
o|ch.




S AABC °f|A4 BC 9 Zol& 5ecm o],
AB. AC ©| 5 S2AL golAnY 27
Py, Ps, P53, Py & Q1, Qo Qz, Qu 21 &
PyQq 9] dol=?

@ lcm @2cm ® 3cm

@ 4cm ® 5cm

B

Q>

T~-5cm--"

AAP,Qy € AABC oA /A & 25,

(SAS T2)
AAP,Qy 2 AABC o] §2H[712 (5 0|B&2

P2Qs : BC = 2: 5 Wb PoQp — % — 9(em) o]t}

AP, : AB = AQ, : AC = 2 : 5 9|22 AAP,Q, @ AABC




o8 94 /A =/DEC,AB=9,BC=12,DE=69% 1}, DC

Lo
]
o
-
_O,l‘,
%
)

ACDE 2} ACBAYA /CE 35, /A = /DECo|E=
ACDE ¢ ACBA (AARS) o]t

DE: AB=DC:BC

6:9=DC:12°]|22 DC = 8°]|t}.




H7]

© F kg

2)0,6,® ® 0606

® 9.6,

ORONG)

@® 6,606

-—‘:':_%’
o}

wel A%t
24 @, ©, @°It.




8. & I1™oA LADE = /ACB ¥ 1fj, AADE
} AACB 9] §3H|E FotHA?

AADE 9} AACB 9|4 /A 7} 350]1,

/ADE = /ACB 0|22

AADE 0 AACB (AA ®)

AD o] tf-g®o] AC o|B2 §-3H|=3:6=1:2 o|c}.




9. oS I 2o FPAHF ABCD oA A M- BC 9] F4olt},
BD = 12cm ¢ @, BO 2] ZolE Fa1H?

@ 3cm @)4cm ® 5cm @ 6cm ® 7cm

AD //BCo]EZ /OAD = /OMB (312}, /ODA = /OBM (31
Z})

wt2bA AOAD ©2 AOMB ©|t},

AD:BM=2:19°22 DO:BO =2:1°]t}.

BD = 3BO =12

.. BO =4(cm)




10. ©H& 2™oA LABC = /FDC = 90° & W, AADE 9} §-& A7F5 o]
ofd AL mF A2 H?

A

E

F/—' C

B

@) sEBC @ AABC ® AFBE
@ AFDC @) »sEDC

AADE @ AABC (AA BS)
AABC @ AFDC 2 AFBE (AA )




ot

S

214 A 7FBC 919 H E

g7

2t =
w, AF ©] Ze]

3z

o] Zlo|7} 15¢m ¢l
2 A A9t} BE 7F 3cm €

ol T

g
O
S
©

5 8
[ O
N s
Q' @
-
O o
2 [ [
e @




o8 732 AD = 8cm, AB = 6cm, BD = 10cm ¢! A2 ABCD
oM 2+ BD & A= AS2 5t O 7P HE 9 =& H2
Zolth, AD ¢} BE

D ¢} BE 2] 4] P |4 BD ol & 4o Ee Q&
p

1 24

@) Z5cm @) & om ® 5cm
1 40

@ gcm ® 5 om

S5 \
AABP = AEDP ©|E & APBD + o]54t7ztd, uwtatA BQ =
5 (cm) ©|th.

ABPQ 2} ABDC ©f|A]

/C = /PQB, /PBQ = /DBC °|2&

ABPQ @ ABDC (AA &)

BQ:BC=PQ:DC




13. & 292 A9 ABCD o 214 ¢ 7F ¥ AB 9] $4 H 9
QEEEF & dL Aoz st L& Aot} /HIE = 124° < 1,
/HFE 2] 371%2?

wll mII >

@© 34° @ 48° ® 56° @ 62° (@)73"

~&B ~

(HIE = 124° ©]B.2 /ATIH = 56° ©|t}.
/A =90°, ZATH = 56° ©] 2.2 /AHI = 34° o|t}.
/GHF = /C = 90° °|2& /BHF = 56° ©|1 /BFH = 34°
o|c}, whebA
180° — 34°)

x = (HFE = /EFC = ( =73°




14.

A}219 ABCD o] 4 BE & gt Hoz
stel 2 € 7b A F o] 2= % He Aok,
EF ¢] Zo]?

AABF O ADFE(AASS) °|E2 6 : 2 =

— 1
- EF = Eo(cm)

10 : EF 6EF = 20




15.

AAFE 9} AADC oA /EFA €} /CDA = 90° 2 231, /EAF ¢
/CAD = 37 HBoln 2 2t} whebd £ 4719-E AL §80]

tt. AAFE 9} AADC 9] 84|71 10: 16 O] B2 5:8 = x: 20
o|ch.




HE R ok

® 774 @ 874 ® 47

@ 6 7

@5




ol

tr o
21

17.

29

Stk a+ b o] #

£ bemetl

#le] o]

@ 10 3®)18 @ 32 ® 40

® 8

,ﬂEl' —~
Hi m
o &
B
N
N i
XX
.
D~
o}
ﬂ_ﬁ Al
=
S
5 o
mmo
B o&r
£ =
CIERY
o mJ
S
= &
(&)
M
‘mﬂ o
B Il
w_nr_.4_9
X
R
o

La+b=8+10=18




18. o oA AR Tael 7ol 2 A
#4207 AL

@O AFDC @ AABC

Q

@ AADE 0 AFBE B
® AADE @ AABC

@AEBC O AEDC
® AFDC AADE

B ~

@ AABC ¢ AFDC 9|A] /C & 3%, /ABC = /FDC = 90°
.. AABC O AFDC (AA F)

@ AADE ¢} AFBE oA /DAE = /BFE , /EDA = /EBF =
90°

.. AADE O AFBE (AA B-2)

® AADE ¢} AABC 94| /A = 3%, /EDA = /CBA = 90°
.. AADE @ AABC (AA ©2)

@2+ @ 9 95 AADE @2 AABC &2 AFBE .. AABC ¢ AFBE
B @,®°] 25f .. AFDC @ AADE




19. o J"olA M P 7} AC, BD o Y o, aAPBC 9] Ho|& 5t

H?
D
\
A \
/ D 15cm
9cm )
\ /
B~~920cm--"C
@ %ch ©) ﬁcnﬁ ® gch
1 150 2
@ Tch ©) TCm2

A P o4 BC o i 419 &2 H 2 54
E@:35,EC_H:35
PH:AB =CH:CB
PH:9=5:8, PH="_(cm)
45 225

1
APBC 5 X O><8 4(Cm)




20. TS 139 AABCOIA A ML BC 2 Ho|tt. AGLBC, GHLAM
,BC =25cm , GC =5cm Y o], AHS] Zdo|& L5HH?

@ 4 @8 ® 12 @ 14 ® 16

AABCOIA AG” = CG x BG ©|B& AG. =20 x5
~AG=10
95

AAMG A AG” = AH x AM©]1 AM = 5 =125°82

102 = AH x 12.5
~AH=38




